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}1% 2 i WS HEEUS
1301035540938 S R | Toekokokok 14
341204skkekekololok 1 878 A | Ttk 62
152502:kskkk407 19 =RELIN 1 7sskksk58
3209023k kkk4%001 7 FE R 1 7ok 4
37011 2%kkktkk k3535 EEHITL 1 Tastskokk8 1
140106%kkkk4k% 3670 5= 1 Tkdokokk29
4301 22%kkdk4kk7112 L% i 1 7Hkskkk57
331003kkkkkk4k0015 ¥ 1 74k%%9()
430121 Hkkdokkk 1814 B 1 Tx%%k%%26
44080 3kkskdkdkk 1513 EDEE 1 7kkk%9 2
53018 Lkskskskskkkk 3928 Ak 1 7k 00)
441421 kkkkkokk 193X R 1 7stkork 18
341226%kkk4%k%9010 ey 1 Tekakok27
512002%xkkekokk04 17 = | Tkskokk Q7
441602%kkkkkokk 2217 b2oEit 1 7tk 80)
3607 24kkkk400 1 X 5 1 7Hkkkx63
140902skkskk43k% 003X R 1 Tk 72
65220 Iksskdoktokx 094X SRS 1 Tskskskk 2
330322%kkkkk4%0019 [ A RF 1 7kt 60)
360103kkkskkkkk 1719 [ A 1 7kskkk 62
410185%kkstkkkk01 7X % 76k Bk 1 7kskx%3 1
44088 kkiekikk 1033 MR~ 1 Tsiekekek02
36223 2%kkkkk4k%2017 [ 5.2 1 7skskskk 32
350102tk 4k 165X v e 1 74%k%%39
3201 05%sktokokok 1617 e ] T3
430603 %kkkx4k0018 [ o gt )
141024%3k*k4%k4%%0083 NS 1 THsksksrk7 1
140402: k4 123 Ml &5 1 Tekkekek64
34032 1sktokk k8275 [ FH 1 7k4kk%7 3
44088 3kkkdk4k %0330 A 1 7kt 8()
13098 Ikskskstokdok 3410 & 1 7kskokok 7 ()
44152 1 kkkdk4k %8826 (447 B 1 7Hkkkx85
330226kkkkkk 42395 [ I 1 1 7kdkkk95
420103kkkkkkx%4916 G 17skksk5 7
341503kkkkkk 49938 PR 1 Tkdokokkq 7
500230tk 1601 % 3% 1 7okt 19
22240 5%k 1026 (e 1 Tkkk69
1304324k 4k%2318 [ 2k 1 73ks%kx%59
37021 2skkstokkk 1 548 o A 1 Ttk 3 1
350526%kkkkk4k0523 16 1 THkkkx88
440306%kkHkk4%0326 % DL 1 74%k%%05
330282sskkkk 46913 % ZE 1R, 1 7x4%kx%9 1
440402%%kk5kkk%9 1 TX % 6 51 1 7kokkk39
340403kkkskkokkk 1 648 Pt 1 Tskskskok Q4
3701 1 2skeketotookok 374 1 PET 4% 1 Tkt 82
371002k 704 1 N2 17455599
410182%kk4k4%k%0136 A 1 1 Tkskoskk 32
142429%%kx%k%4%%0019 AR 1 7x4%k%%98
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342422%kkkkk4% 1498 T 1 7oskskoskok 7 2
130208kskskskekekeoksk 7813 FLGE 1 Tekskskek 16
44098 2%*kx4k*k %6693 XS T Mt 1 T4 7
36098 1Hkkkkkkx1016 XS o 1 THx%%%96
360702tk 00 1 X XEEA 1 73309
36092 1 Hkkkkkk 005X X7 R 1 Tk 14
41148 Dksoktokrkk 3021 Bk 1 7Hkskkx 83
5301 1 2skkekekokokok 5533 THa% 1 758k 76
320982%kk*kkk%x6116 TE 1 THkk%%56
340303%kkkkkkk%0216 T—H 1 Tkskkkk27
320902 kkkk4k 301 7 s 1 Tkkokokk22
32021 Iseieokokok0028 =T F 1 7sskokokek Q4
4117265k k4kk4%844 1 HEE 1 7ok 44
342426355k 3010 1 FE 4 1 Tkkkk55
511322tk k5658 sl 1 Tkokokk3 3
34162 1xsktkokdk27 30 BRI 1 Tkdokokk23
131082 kkskkkkk07 7X % 52 il 1 Tkdokokk3 3
13062 [ *kkkk%%393X DR e 1 Ttk 18
32032 3%kkskkkkk7019 Ju/b A 1 7kt 03
371302%3kkkkkk 2510 JWEZR 1 Tskskekk92
1304024k 4k % 3626 YO REST 1 THkskokk 28
211004kkkkkkkk3314 B PP 1 Txskkkk3 1
37020258k 07 10 EBnNG 1 Tk 16
350784kkkskkk4k0062 (i & 1 7kt ()7
43038 Ikssksciekokok0215 {8 A Ik 1 Tssksekk50
23028 Ikeketetotolok 131 1 B IEAR 1 758kk05
36011 eketototolokok212 1 HIES 1 758kk89
14230 1seksksokdokok(051 X = [ 5 1 Tkkkokk93
230203kkkkk4k 1032 515 Bk 1 Ttk 73
411702%%%555k%0835 T S | Tkerk48
1101 1 5k x0034 SN 1 Tk 30
3402044k K4k k%2634 IR 1 Tkbkkk 16
130203kt 2712 EVERR | Tkskokok 16
13068 Lkt 1237 =Y 1 Tsesksksksk9 4
13090 3k*kkskkx4%0044 BKERSR 1 Tokkx4kT79
362202 kkkkk%k4% 3030 BT 1 7dkkk64
230382k 551X ALER] 1 Tk 26
1310025553010 e} 1 Tssksksksk AT
440303 %k*kkkk4k5115 51 1 7kkk54
410303*skkkk4kx0052 A 1 Tskkkx45
21021 Lkskskskskokkok 702X e 1 7Hkk%kx53
640102k 4kk4k 1817 SRS 1 7x4%k%%05
230602k k40kk k5723 SFEA 1 Tkskkdk4 3
141082s%kskkkk0013 SREA 1 Tkatook(3
14220 1tk 9036 RO PR | Tkl 90
130184skskstokkkok4 019 i = A 1 Tkkookh 5
34162 Lxsiekkkokk 4574 Y 1 Tkt 7
130204kkksk4k%3312 i — 5 1 7Hkkk%75
65310 1kkkdkk4k2015 (B 1 7k4kk%7 5
360730%kkkkk%k%0913 A 48 9% 1 TH5kk%45
640521 etttk 2942 fr 41 1 T3tk 66
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53011 3skskskskskokokok(0 337 R 55 1 Tekskskek(02
13082 3skskskskekekekeok 00 1 X o 1 Tetekskek] 1
360622 %kkkskskekkk 391 7 A= 1 Teksksksk 70
650103 *kkkk4%k%6036 w2 1 THskkx%97
11010589 1 X R 1 Tkkk24
330103kskskskkekokk 2312 HH 1 Tk 13
410106%kkkk3k3k001 X HH R AT 1 Ttk 04
513124%kkkskkx0010 iH = M 1 Tkkkkk88
36028 I kkekekekokokok8020 ARG 1 Tkkekk9 2
362203xkkkkk4%1010 e 1 7x4k%%76
360426tk 1019 T 5 A 1 Tk 1 7
51101 Ixskkskskkdk5356 A& 1 7k4k%%85
341503kkk40kk%4910 L 1 7skskk4k33
520102:kkkstkkx4016 TG 1 7406
430103kkkkk4% 1010 WA 1 Ttokokk03
350924kkkk%k4%0015 RSN 1 7k4%k%%9()
341503tk 3827 iR 1 Tkkkx99
1302300913 HERSE 1 Ttk 32
442000k 4kk4%4670 A 1 74kk%15
44011 24555k 2813 TS 1 Tkx%90
371702%kkkkkkk5618 = 1 7kskskokk4 3
140802sksk5:444%%0096 L | Tk 52
13092 [skskskkx%%3816 PR T 1 Tk 18
62210 Isksksksoksokk 1412 eI 1 7%kx%k%95
371002%kkskkk4k4 542 T25TH 1 THskskkk 32
441881 ##kx555% 087X L3 1 Tk 19
430903 kkkkkkkk4510 HER 1 Ttttk 14
440604%Hk4%kk%%003 1 4Pt 1 7kt 62
370902skkkskkkokok5 134 JaBE 1 Tk 86
130902sksk44%%%3650 FERH | Trrd |
130682%*kk*k4%%0056 FREFEPE 1 7k4kk% 78
42108 3Hkkdkk4k287 1 EF 1 Tx%%k%%55
360830%:kickkokok6315 e | 7otk 52
36088 Ikskktokkk1031 B 5 1 Tx%%k%%86
500226%kkkk*k%kk3972 i BT 1 Tkk%k%36
360702:kkkkskkk391 5 0 R 1 Tskkok3 |
13058 Lkt 3312 B | Tookskokk 72
141082 kkkkkx%005 1 B ERET 1 Ttk 17
13090 3kskskksk4kx0310 Z=E ) 1 7%k%%%89
110102kt 27 1X 2% 1 [ 1 Tkatotok 70
21021 3skkskstokokk 3649 R E 1 Tkkok 36
371523%kkkkk4%66 16 z 5 1 7k4kk%62
131002%kkkk4%k% 2838 7 5 1 7k4kk%62
41022 [ ¥sssiekokok52 10 I 1 Tk 86
2201 04%kkskkkkk4 112 R 1 Tkdkkk53
130529kkkkkkx623 1 it | Tokskokk 79
140109k %6837 D e | Tokskkkx23
5301 1 2%kskskkskkx(0013 25 Jk ) 1 7skskkx64
4201 16%kkkkkk%37 19 BN 1 Tk 7 1
430602007 1 ZRIEIR | Ttk 15
5301 25%kkkkkk k089X EAR:: 1 Tk 68
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530622%kskictkekokok 1113 I 1 Tsskseksk06
430204 3k*k4kk40549 AR5 1 Tkdokokk25
511129%kskskskekokek 5819 A5 TN 1 Ttk Q ]
13098 3%kkkkk*k%0510 25 b T 1 T%x%%86
34088 Lskskeketoskskrkk 34 1X = 1 7dkkk08
37158 skt 3827 AL 1 Ttk 78
130102skskokekokkk 21 18 2k 1 T3k 10
530302skkkkk 40038 e 1 7kkkk89
23230 Lsskskekstokokk 1519 DAL 1 Tkdokokk23
110105%kskskskekokeoksk 7317 A5 — 1 TkeskskskQ 3
140702k kskekekokeokek 7032 AR E 1 TekeskskskQ2
140423%k5:445%%0058 2RO 1 Tk ()2
532323 %kkkdokk k0318 25 s 1 Tkkok 34
341221 xkskskekokkk 2879 SN 1 Tekeskskok4 5
320302%kkkokok 1618 ZERE 1 Tk 53
6501 04%kkkkkk0044 7z 5 it 1 THkkkk 26
533523kkkketkok k2213 RS 1 Tkkkk35
140109%kkkk4k%0515 SRR 1 k5 |
43052 Ikkkkkkk8737 BN 1 758483
410724%kk35%k4%2019 AHEIE 1 Tk 36
340702%kkkkkk051 1 ZhEE 1 Tskkekk59
430304kkkkkkk0057 i 1 758k60
43011 Ikkkekekkk5037 ZEERR 1 Tkkkk3 3
53252 Tkskkkkkokk2019 ZERH fE 1 758k 36
320302%kkkkkk%0019 R 1 7%kx%k%88
5001 1 0okl 241X P | Tk 7
440402%kskkkkskkk9453 ZRR I8 1 7kskskskk20)
44078 3kkkskkkkk5412 G R 1 THkkx%39
131126%kkkk4%k%x0130 X5 1 Tk 54
431103%kkskkk:0136 7k 5 1 7kekkk4 5
441900%k4k 4%k %4867 MR TH 1 Tskskskokd 4
330324skkekeketekek0032 PR E AH | Ttk 92
3501 02%kkkkkkk0114 MR BH 1 Txskxkk8 1
440825%kkkkAkk521 2 MAEAE 1 74%kx%%99
44188 Dskststokokkk7215 M EEET 1 Tkkk99
445102k 4kk4% 1926 PRE] 1 7k4kk%62
35012 1 ksksksiskskskek (0172 A 1 7kskkk4 5
440403%kkskokk9203 PRE A 1 Tssksksksk AT
340103kkkkk4%4519 MR 1 7%4kk%16
330225%kk*kkkkk031 1 MRHESR 1 THkk%%95
43011 [¥sseiekokok36 10 e | Tkskokk83
22011 2otttk 1013 XINEZE 1 Tekskk80
442000%kkskkkk8832 KR | Tekskokk3 1
44030 3skskkkkekek69 12 IR 1 Tstsiiek04
130604 #kkkk4kx 1218 XL F 1 7x4k% %66
140302skkkksk4k%3372 X 3715 1 7#%kk%%99
431202%kskkkk%k0055 XIS 5= 1 T3ksk6 1
211021 sktekstioiorq 14X X ZE )
230603kttt 3340 X E T 1 Tseskk%9 1
411302skkskkeksickok01 19 X[ BH 5L 1 Tk 36
510623kkskseekkek3119 X BE = 1 Ttk 27
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36012 Dkskokskokokkok 1937 I FE 1 7kt (08
320706%kkkekokokok 1013 iy 1 Tk 2
340103kkkskkokkk 3027 X ik 1 7kskkk 82
230622%kkkkk4%0059 K| M = 1 7skskkk94
411402k 8520 XUBH[E] 1 Tk 52
1401070015 X% 5 1 T3 1
340403%kkskkk4k% 1610 I\ - 1 Tk 2 1
13058 Iksksiokekeksk00 16 X AE 1 74690
64038 Ikskoktokk 005X X HE 1 7skskoskk4 5
41108 Ikstksdokdokk 1 266 Xl — 6 1 Tk 7 1
42138 kkkkkkkk 3639 X 1 7886 1
1401063%kkkk55%0272 X R 1 7tk 65
37028240078 X fifr g 1 Takokokek65
431202%kkkkkkx0099 XU JE A 1 Tk 70
2307 02skkkkkokok 0526 XTE 1 75889
4223244k 4k 4%k%64 15 P 1 7skskskk 33
420902 kkkkkkk0820 SR 1 Tkkekk6.3
130302k 2224 e % 1 Tkx%%68
410505%kk4k4%k%0058 BT 15 1 7kt 1 5
3501 22skkkkokokok0173 Eoailkoz] 1 758kk93
4403035485 3X P i 1 Tssksksk 19
4413 24%x%4k4%k%2348 P A 1 Tk 14
5001 1 5%skskekokokk 362 1 P B 1 Tk 12
341226%kkkkkk4 737 %ML 1 73skkekx00
52232 Lkskkskskkkk 7367 G 1 74%kk%k%55
36012 1xskkskekdk0030 P Es 1 Tastokkk94
440106%*k*k4%k4%%5956 5 It 1 Tk 1
370602skkkkokokok49 18 BT 1 7k 69
52232 Iskssokkk8016 =V 1 Tx%89
331003skkkekekokokok 3115 Skeaan 1 Tkekokok 13
341622%kxkkk041 1 1458 1 Tk 56
43060 3%kkstokkk:0039 S 1 Tkakook88
510824kkkkkkkk 1013 EYIN 1 7#kk%k%75
131002skskskskskdokk 1412 i 1 7%k%%%96
341402%kkkkk%%0645 I IR IR 1 7kkkx 18
44051 3kskskdokkk 6072 EYays| 1 7#kkkx15
341802%kkkkkkk6017 ik 1 7kk%k%83
32118 2%kkskskokkk [ 717 i 5 1 Tkk%k%76
341225% k4% 4%491X R 1 T%%k%%79
511325%*kkskkkk%3 12X ik 1 Tkkkx39
65220 Likstoksokkk 6025 e 1 Tk 12
420602%kkAk4k%k1521 iR 1 7kskx%59
451 302%kkkk4k%k5122 FIRIE 1 7%kx%k%08
510422kkkkk4k 7412 B 1 Tkakook4 5
362323%kkkkkkkk5418 TRA 1 7skskkx] 3
440305%kkkkkkx 1517 s 1 7k%kx%38
140302k 00 1 X KB = 1 THkkkx28
500236%kkkkkk4%8678 BHEE 1 74%k%%60
52260 1Hkskkskkkx0813 G 1 73k3kk3k50)
65230 I sekeketetokok 5554 ol F 3 1 T3tk 20
510903skkkkkk%kx886 1 = B 1 7kskx3%:40
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43011 1skskkstokkokk 3252 HER 1 Tk 24
43132 I ss0k01 00 WA 1 Tk 26
34012 Isssetokkok4 31X PG 1 Tkskekk04
510105%kkkekekokok0015 e 1 7kkekk8 7
532726 kkkkk 4k 2419 AR A 1 Ttk |
11011 Iksokdokdokk 861X > 1 THskskorskq 1
41108 Ikskdokdkx4570 P9 1 THskskoskk 33
430903 Hkkkkk4k6632 eSS 1 Ttokokk 34
53282 3skkkkekokokok 1119 B 1 Tketok 14
65272 3kkkkkekekk 0026 RO 1 7sskkskk4 7
34040 3%k 2625 (BTN 1 Tk 13
110102kskkk4kk 1935 idikin 1 Ttk 34
341822%kkkkk 4k 3718 B 573 1 Ttk 7
530102%kk*kkk%kx0718 RS 1 THkkk%k19
36242 Tkkkskkkkk0033 b 5 1 Tkskkk8 1
3101 15%*kkskkkk%905X BE R 1 THskskskk67
140302:kkkx%%0055 (a2 1 78k 58
330109skkkekekekokok0036 EETF 1 Tketek 14
32058 3kskkkskkkk5550 NS 1 7kkkk85
340403%kkkkokok 1619 PIEE 1 Tk 12
4451 224%kk4%kk4%5918 TR v 1 Tkkkk56
230202%ickkokok 1015 P8 1 Taskskskk26
130604kkkk%%0018 RS 1 T34
440303 %5555k 2723 L3 1 Tk 49
410102%3k4k4%k%0032 ) i 1 Tkskokk 78
13098 Lksksksdkakskkk 563X o [ B 1 Tkkkk5 |
510183kskkskstokdok(011X XU 1 7skskskok (04
4301 04%k4k4%%0010 R 1 Tk 2 1
220104skkkekokokok4 135 KM 1 758kk98
230104 kkkstkkk54 1 1 R T 1 Tkkkkk55
320902%kkskkk4k6519 KRB 1 7skskskok 1 4
22240 3kkkk4%04 10 oK B 1T 1 74%k%%09
350526%kkk%k*k%x%0016 Iy FafE 1 Tskkskk7 2
342425%kkskkk5223 71t 1 Ttk 50
330303kkkkkkkx1516 e 1 Tkkkx42
370705%kk*kkx%kx0015 Pha 1 7kskk%58
370406%kkskkkkk%2810 PN F 1 7kskskskk4 8
370002kskskskskskskk(0423 }/J\j—:,'ﬁ'z 1 7%kkkk89
360922%kk*kkk%kx3810 PNz i 1 Tk 22
130403%*kkkkkkk 1239 P EL 1 Tk 18
37091 Ikkskskkkkk5215 PR K 1 Tkkkk%65
360802:kkskkkkkx2019 PNFET 1 73k 1
3716024kkkkk%kx3413 PINEL TR 1 7kskx%k48
340602kkkkkk4%0215 H 2 1 7kk%kx88
140109tk 002 1 i SR | Taeksoksk87
131102%kkkk4%k%0215 4 5 1 7k4kk%52
36092 3%k*kk4k%kx0513 BIRZ 1 Tokkx4k62
51162 1%kkkkk%kx8335 T hif 1 7Tkkx%16
450305kkkkkkokok 0024 JE Rk 1 7tttk 74
44188 I #kksiokok(0234 A | Tkl 05
370702%5kkk426 16 RS | Toskskokk63
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230184skkiioekek 3257 FH S 1 75559
340603kkkekekokokok 4810 H 4T 1 78k 35
21091 Dkstokstokorokok 001 1 &L T 1 7skskoskok 1 ()
3607 30%kkkkk%kx5032 i F 1 Tk 10
330104 kskskskekokek 3510 Ji 1 Tekskekek59
330127kt 3117 JEAH 1 THkkkk83
3407024%kk*kkk%k%05]1 1 A H 1 T80
61032 1kkstsiokokekk 341X E i 1 7skekok 18
131025%kkk%%0055 T e v 1 78kk98
411123%kkkk4%k%0013 + pk: 1 THskskorsk 12
53011 Isskeksksiokekk 381 1 TN 1 7kekk0 7
42112 7Hskskekokokekk 2238 EhE 1 Tk
410105%kkkk4%k%0249 FAE R 1 Tk 34
13062 I kkkkerekk 1874 THEAT 1 Tk 38
131026%kskkkk3k86 10 EXJH 1 7k 38
1401 1 Qkskkkokkk:0086 + 34N 1 Tk 84
13098 3skskskekekokeokk 5316 FiEf 1 Tetkekekek 31
410703 %kkkk4k%2515 + b 1 THkkx%k85
32128 Lkskskskskokkk(0180 FEEAX 1 T%kx%%66
370203kkstkkk701 1 A 1 Tkkokk08
340102%kkkkkk 1015 ITBRE 1 Tkkekk08
220882k kkk4k%031X F & 1 7Hk%%%98
341702kkkkkkkk422X F 1% 1 7k 30
42028 1:kskkkokkk 7678 E &4 1 7k 98
411025%kk4kk%k0014 FHE 1 7kskx%89
411625%kkskkkk0043 £ H 1 Tkekkk3 7
140502%kk4k4%k%3013 F 47 1 Tk ] 1
140107 kkskkkek3k667 2 T K 1 Tkkokokk(7
341225%kskskkkkk51 13 FREE 1 7380
150105%kskskskeksok 7312 T AT 1 7kekkk58
140321 kskstokkok(1 3 1 TH 1 Tkkkkk( 7
53011 Ikskksiokokk k9216 T ERE 1 Tkkookh 3
61030 3kskkkkkkx4816 FHEE 1 7kk%k%63
442000%kk4k4k%2362 F i 1 Tskkkx45
21028 3skkskkekeokek05 12 Tl 1 720
110102%kskskskkskk 231X +—[H] 1 7k 40
340802%*kkkkk%0225 BRI 1 Tkskskskk4 2
441900%kxskkk6936 TIKIR [ T8
430104k 4kk4%4020 F ARk 1 7kdkk%45
533023kkskkkkkek0356 T Bk 1 Tkkkk95
360782:kkkkskkokek G817 FE 1 7sickkk6.7
32082 1skskskeksiskekk 011 1 FEIR 1 T4 8
360202kkk4kx%0021 Tl 1 Tkdkkk33
41050 3kkkstokkk:0073 EFEER 1 Tkatotok( 7
44090 2skkkkkkk0474 IR BH 1 7kksk3k%30
350602skkskskskkokok 0024 AL 1 7skkk6 1
360902:skkkstskekk021 0 SRR 1 T3tk 89
34102 Lkskskskskkkk0038 S 1 7%kk%k%60
34042 Dkskskskskkkk [ 235 SV 1 Tskskskokd 4
445222%kxkkkk 3817 EEn | Toekskokok ] 1
35092 Lkssetokokok(01 1 1 REET | Tokskokk 75
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4527 23%kkkkk%k%2410 SR 1 Tkxkk] 4
51072358k 4009 RREE 1 T3kskekek6 1
34152 Lkskkskkokkk 7559 S5 1 THkkkk65
3301 04kkkkkkkk3510 SRHA 1 Tskskskk2 1
360 1 04sskkkok002X BRI 1 Tk 37
53210 Ikstokkstokkk(031 1 ST 1 7kkk50
320324kxkkkk%%0046 PSS 1 T%kx%k%63
65420 1skskskekeketekk (0015 S5 1 Tekesksksk 70
5001 1 4skskekstiokokk00 14 ML 1 Tkkekk30
510106%kkk4kkx0073 Y| 1 Tkkx4%03
430802kkkkkokok 1118 AR R 1 Tk 79
350583kkskskkekokk 4930 D4R 1 Tk 27
340104*kk4kx%4514 R % 1 Txkkx%30
32021 Lxsoktokokk97 13 B 1 Tkkkokk46
36042 Tskkksiokekk0015 B 1 Ttokokek54
360102:kkkk1kk0010 [\l /A 17k 77
43030 2skskskekekekekek(01 37 [m] 1 1 Tkeskskok 16
13020 3skskksdokdokk 1 81X SRS 1 Tokskokok 1 3
430102k 4kk4%4016 HER 1 7x4%k%%09
420704 %x%4%k4%%0236 B 7k 7 1 THkkk%70
65430 1kkktokrk0014 =hEE) 1 Ttk 30
430102k 4kk4%0539 Hia ok 1 7k4kk%57
411329%kkkkkkk6172 =541 1 Takstokokokg |
340104xkkkk4%2510 A 1 Tkkokokk82
44011 kksobkkkx2715 WAL 1 Tkkkx10
231102%kkkk%k4%0210 2 [F] 1 Tk4k%%85
43061 1xkskkkx%0039 AR ~~ 1 Tkkx%8 1
36012 Iseiekokokok2956 AEVN5E 1 Tssksksksk 78
3601 05%kkkekokokok 1618 e 1 Tkt 4.6
440102%kkkkkxx3213 12181 17%kk%k%76
32062 [ sksfokekokk 7513 FRIEE SR 1 Tk 73
371502%kckkokok 1560 EREEIH | Tokskokk2 7
440304kkkkekekk632X AR | Ttk 5 7
230225%kkkkk4%4619 15 AT 1 7%4kk%16
44010 Toelototekeiokok 1 249 BT 1 Tkt 77
430702%kxskkk007 7 A 1 Tkl 66
130684 kkkkekerk 7016 YRS 1 7tk 46
410502%kkskkk40101 Vs 1 Tokakotok6 7
310105%kkskstokokk 1219 amanif 1 Tkkookh 3
32021 Ixkskskskskokk65 14 YFT- 184 1 Tskskskskk94
411082skkkkekekk 1815 B S 1 Tk 27
140502:kkkkk4%961 1 EEINES 1 Tk 72
3501 04kkkskkkkk 1531 %454 1 7sskskrsk] 1
23010 7kkskcekokek 1516 At 1 Taekskokk 76
411503 kkkkk4%k%k0416 A e 1 7Hskskk5 1
21022 [ ksksiokokokok8 1 25 [E R 1 7ssksksksk 1 2
610302%kksickokok 1 532 Eist L | Tokskokk8 |
430121 sksksksisksksk(00 12 1 f i 1 7kskskkk 35
34128 2%kkkkkkk 342X % N 1 7%kk%k%89
441224%kskkk%k4 356 1 [ M 1 T3tk 35
42022 2skk8k3k%5430 1 R Bk )

F8, H11




WS Zhw HEUES
140922skk4k4kx00 1 X e s 1 7kt 88
361123kkktokokkk 3253 W E 1 7k4kk86
430122k kk4k]1113 ¥ ] 1 Ttk 7 3
2301 25%kkt0kkk5214 7D &L 1 7kokkk59
320106kkkk4k401 7 7D &L 1 Tkdokokk83
2301 04kkkskkk4% 7729 1% 1% F- 1 Tskskokok 4.2
37021 2%kkskkk4k 1526 e )L 1 THskskskk 52
142326%kkkk4k% 7421 G 1 Tkskokk 18
330182%kkskkk4%0016 WL 1 7kt 46
431222%kkkkk0141 Mg 1 Tssksksksk53
421002%k*4kk4k 1 824 IS 1 7kkkk89
23022 Lstekksokdok 381X AR 1 Tkkkokk92
440402%kk4%k4%9095 MDA 1 Tkkkk35
130604sskkkk4k%061 7 17768 3] 1 Tkskokk 18
4211 27Hkpkkk%k 2834 % = 1 7Hskkk%56
411702%kkkkkk%0016 Ve Bk 1 758k60
220106*kkkk4%0610 M 1 709
4311 24%k*k4kk4%0323 X" 1 7k4kk %48
441323%Hkpkkkk 1 524 &= 1 7sskskoskok 74
14018 Ik 5076 ki 1 758k60
370502k 1610 BB 1 Tk 30
4108020066 W4 45 1 Tk 28
32101 Ikskekstoekekk 031X Ik B0 ] 1 7kt 29
22240 3kkkkctkkk 7481 o 1 Tkkkokk02
4307 22%kAk4%k%0177 WiE K PH 1 7kt 76
371602%kxkkk0023 T 1 790
210224 %*kkkk4%k%042X F15 1 T30
64038 2kkkkkkk%k4521 T T 1 THk%%%86
411123%kskkkkx%0169 TR 1 7kekkk92
140427 s88555%0012 Ridtifg | Tk d
370302 kkkkkk4%k 2117 TKAH 52 1 7x4k%%16
510107 kkkskkkkk6073 K [ £ 1 7%k%%%9()
65410 Iksksksokkx0016 7K IR 1 7skkkx7 3
362325 %skkkskskokok ()0 19 TR i 1 7kt 2 1
411082skkskokokeickok 7213 TR 1 Ttk 5
64010 2s%kkskkkk 1212 7k K it 1 Tokskototok 17
330302tk 734X KIZFE 1 755kk6.2
13090 3sktolotokekek 1 548 gk FE Al 1 Ttk 52
340103kkkkkkk%6016 7K T 4E L 1 7%kx%k%08
340103skskskskskskokok 6027 7K G 4 1 7otk 20
44152 1 ksksksksksekk (085 1 kAR M 1 7skkkk0 1
5001 02%kkkkkkk 1337 TR IR 5% 1 Tk 32
130203kskkskkkkk511X 7K U8 1 7kskx%30)
3101 16%kskkkokkk1421 oK. NF 48 1 Tkkkx%8 1
341623%*kk*kkk%kk5612 oK HE HH 1 THkkkx67
320922:kkskkskkskek 2450 7K #x 1 7sickekk 19
211223%sickkokok0025 I e 1 Ttk
341126%kkkskkkk5 128 K AH 1 735559
340302 %kkkkkkk 1024 A 1 7kk%k%08
34242 2%k 7003 oK = 1 7k 37
320303kkkskkkk k4919 KA %ty 1 7skskakstok 40
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WS e A HEZIES
370105%kk4kkkx (0842 K Al FR 1 Tkkxx67
430602:kkkkkkk0103 5K 28 ik 1 Tskkekk49
32031 Dkstokstokokokk 761 1 K At 1 Tkskokk 4.2
510107kskictekokok0037 KN 1 Tkt ] 1
411522%kkkkkkx6391 7K F 1 Tkkk24
320303kkkkkokokok 463X gk 1 Tkekekk 78
411302sk55k%%0666 ik 2= W
410108*sk4k4%k%0020 KIG = 1 Tokskokok 1 2
53282 3%*kk*kkk%kx0046 HKA1E 1 1 Tk 38
130102%kkkkkkk3314 KAG Y5 1 Tk 38
440204 kkkkkkk6419 ik 2 1 T8k 1
150622s3kk4k4k %2718 K HV4 1 THkskkk 25
231222%kk*kkk%kx4017 oK FH 1 THskskkk 27
370104k:kskkkx%0030 7K 5% 1 Tekokekekd 1
411102sks55kk%%0093 K7 1 7skekkk9 |
500382:ksksictokokok56 12 gk T 1 Tssksksk 10
370902kl 5112 K FE 1 T8k 30
430723x:kkkkkx%01 88 K P 1 7k 68
370302%kkkkkk%21 14 7K FAE 1 Tk 1
440306%*k4k4%%0016 S 1 THkkkk96
130302skskkkkkkx93 1 X i A 1 1 Tskkkx 42
130603 %kkkkkkk091 1 ok PE DR 1 7k 10
1301 84sskkstokdokk5719 K PEHE 1 Tkskokk 20
411122%kkkk%k%%0148 o I 1 Tkkskk%20
110105%kkk5%9658 g 528 1 Tsksksksksk 1 2
1310240014 g £ e 1 7880 1
620502skkkkkkek 135X TR VEER 1 758k 70
410104kskk4k4%kx0092 K AEF 1 7kkkx32
331004kkkokdk 141X = [ 1 7kkkkek50
330327 kkk4k k%087 1 =[5 1 7kA4kk%7 ()
140430684 34 A7 1 Tssksksksk67
53280 Lkskkkkk4k0250 alkES 1 7x4%k%%05
510106%kkkkkkk0032 X 7 Fi] 1 THskkkx57
131102%sksksdkskk04 14 X f e 1 Tk 29
370105%siekkokokk0134 XA | Tkskekk05
2301 03kkskskskokkok ] 31X FXZE 1 Tskkkx 27
41048 kkkekekekk8530 X R ¥ | Tttt ]
4406825k 60 18 X5 T 1 7k 36
330106%kkkk%k4%0013 A 1 Tkskx%T7 1
1306030012 i | Ttk 38
410105%k*k4%kk4%0076 H S 1 Tkdokkk14
411303*skkkk4kx0158 SIS 1 7kskk%04
520402%ickkokok 1615 AR HE | Tkl 69
320303skkeketetetokok49 12 FBAE K | Ttk |
330382skkkeketotokok 2637 HBE R 1 7skskskok4 8
440305%kskkk0015 PR 1 Ttk 10
35020 6%kskkkkkk 1 027 PhE R 1 Tk (04
33022 7tttk 7320 BhE T 1 THkkekkB5
410728%kskskskskkx9954 R E 1 793
440402kkskskskkxk91 17 AR 1 Ttttk 73
232324skkkekokokok5 118 JEF A 1 Ttk 1 7

%100, #H 11




WS Zhw HEUES
15210 T kskoksdokkokk 1517 J& R EL 1 THskskkk67
43011 Ikstokdokdokk 1716 B 1 Tkskokk 77
510106%*kk*kkk%x0150 JE 7 5 1 Tk 84
350602%*kkkkkkk 1514 J& IE s 1 Tk 1
410105%kkkk4k004.3 KET 1 Ttk ] 3
320483kt k3912 AT 1 780
342425%kkkkkkk7114 LT 1 THskskkk62
34031 Istotkrstokkk081 1 A % 1 Ttk 72
530902skk:kskkskekek 3622 AN 1 7skekoiok] 1
53062 Tskkieekekek2310 A8 1 7tk 46
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